

### - OFFICE OF THE -EXECUTIVE ENGINEER (C)

EHV Civil Constn. Cum Maintenance Division,
Mahatransco Administration Building, first Floor,
wing no.102, Aurangabad,Ph. No. (0240) 2331429,
E-mail: ee2710@mahatransco.in CIN; U40109MH2005SGC153646



No.: EEC/EHV/CCCM/Dn./ABD//Tech/

185

Date:-

e- Quotation Enquiry
To,
Sub: Providing internal wiring to Main Control Room situated at 132kV S/S Kannad, Dist: Aurangabad.

#### Dear Sir,

Sealed percentage rate quotations are invited from Govt. registered & experienced Contractors for the above work as per schedule enclosed. The quotation should reach to the office of Executive (Civil) EHV CCCM Division Aurangabad on or before dated 11.03.2020 Time 16.30 Hrs.

#### **TERMS AND CONDITIONS:**

- The work should be carried out as per P.W.D. specification and instructions of the Engineer in-Charge and to the satisfaction of the undersigned.
- 2) The quantities mentioned in the attached schedule are approximate and likely to vary However, payment will be made as per the work actually executed and measured. The rates shown in enclosed schedule B are inclusive of GST.
- The work should be completed within (15) days from the date handing over the site, failing which the contractor shall be liable to pay as compensation an amount equal to one percent or such similar amount as the competent authority may decide of the W.O. cost for every day the work remain unfinished after due date of completion subject to the maximum 10% of the cost of the order.
- 4) The work which is of bad workmanship quality will not be measured and paid.
- 5) Contractor shall have to arrange for require cement, steel etc. at his own cost without involving any financial implications to MSETCL.
- 6) Other material such as require tools and plant will have to arrange by the contractor at his own cost.
- 7) The water arrangement will have to be made by the contractor at his own cost and it is not binding on the part of department to provide water for the work. In case in water is supplied by Department, then the water will be charged at the rate 1% of work done for water consuming item or 0.25% of total value of work order as decided by the Engineer in-charge.
- 8) The contractor will have to make good the damages if any made by him during the execution of work at his own cost
- 9) The material should be got approved prior to fixing from the Engineer in-charge.

- Income Tax as per the prevailing income Tax rule and subsequent amendment thereof will be recovered a source of your bill on total value of work done for which the certificate will be issued if desired.
- Contractor will be held responsible for accident occurred during the course of the work and will have to pay the compensation as per the act 1923 and subsequent amendment thereof.
- Contractor should submit his bill in triplicate through Addl. Executive Engineer (Civil) EHV CCCM Sub-Division-I Aurangabad the undersigned. Payment will be made within 60 days period from the date of receipts of bill to this office.
- 13) The terms and conditions in the M.S.E.T. Co. Ltd. Booklet 'Tender and contract work' will stand applicable for this work,
- 14) You will have to deposit Rs.14,500.00 (5% of quotation value) as security deposit in cash or DD of any nationalized Bank within 10 days from the date of receipt or receipt of work order, failing which EMD paid will stand forfeited.
- The contractor's offer will be considered as inclusive of all taxes and charges and it will be the contractor's responsibility to pay the taxes to Government and same will not be reimbursed to the contractor.
- 16) Your own rates should be quoted in words and figures scratches and over written rates shall not be considered if not initialed.
- The contractor has to pay earnest money to Rs. 3,000.00/- in cash/In form of DD/FDR of any Nationalized Bank in favor of Executive Engineer (C) EHV CCCM DIV. MSETC Ltd. Aurangabad. If the EMD of required amount is not found in the envelop the quotation will be rejected.
- 18) The undersigned reserves the right to reject any or all quotations without assigning any reason what so ever.
- 19) GST will be recovered from your bill as per GST norms.
- Special condition: The payment shall be effected as per fund availability. Due to shortage of fund there are chances of delay in payments for which the agency will have to bear with the Dept. No. any of claim on this account will be entertained.
- 21) The estimated cost of the work is Rs. 2,85,012.86 only. (Inclusive of all Taxes)
- 22) The Contractor has to submit the self-attested copies Electrical License Certificate, GST Registration, Electrical Work Completion Certificate, PAN card and EMD paid receipt/DD/FDR at the time offer submission as mandatory documents.

Encl: Schedule'B'

Executive Engineer (C)
EHV CCCM Division, Aurangabad.

#### Copy s.w.r.s. to:

1. The Superintending Engineer (C) EHV CCCM Circle, Aurangabad.

## Copy To:

1. The Dy. Manager (F&A), EHV CCCM Division, Aurangabad.



## - OFFICE OF THE -EXECUTIVE ENGINEER (C)

EHV Civil Constn. Cum Maintenance Division,
Mahatransco Administration Building, first Floor,
wing no.102, Aurangabad,Ph. No. (0240) 2331429,
E-mail: ee2710@mahatransco.in CIN: U40109MH2005SGC153646



Name of Work: Providing internal wiring to Main Control Room situated at 132kV S/S Kannad, Dist: Aurangabad.

Estimated Amount: - Rs. 2,85,012.86 (Inclusive of All Taxes)

Executive Engineer (C) EHV CCCM Division, Aurangabad.

# **Quotation for Works**

I/We hereby quo	te for the	execution	on of the speci	fied in the above wri	tten memorandum within ti	me specified in	n such
memorandum	at	(at		%	above/below/Estimated		(ir
Words)			pero	ent above/Below/Es	stimated rate (to be struck	k whichever	is no
					um showing item of work		
accordance in all	instructi	on in wri	ting from the	Engineer – in – Char	ge.		
I/We have read	the gener	ral condit	ions of contra	acts & the conditions	s enumerated in the quotati	on and the sai	me ar
binding on us.							
Cianatura of the	aantwaa	ton					

Signature of the contractor

**Full Address:** 

# MAHARASHTRA STATE ELECTRICITY TRANSMISSION CO. LTD. EHV CCCM Division Aurangabad.

Name of Work: Providing internal wiring to Main Control Room situated at 132 kV S/S
Schedule B

				per Electri	cal CSR 2019
M No.	PARTICULARS OF ITEM	QTY	UNIT	Total rate including GST	AMOUNT
10	Providing and fixing light & Fan point wiring in	77.00	Each	520.38	40069.26
	P.V.C. casing capping by using 1.5 Sqm. Polycab				
	FRLSH wire with modular type approved make				
	switches fixed in plate on PVC box with necessary				
	fixture and fastening and labour complete as				
	directed by Engineer in charge.				
20	Providing and fixing independent plug point	4.00	Each	697.38	2789.52
	wiring in P.V.C. casing capping by using 1.5 Sqm.	4300			
	Polycab FRLSH wire with modular type approved				
	make switches fixed in plate on PVC box with				
	necessary fixture and fastening and labour			2000	
	complete as directed by Engineer in charge.	400			
30	Providing and fixing plug on board point (surface)	15.00	Each	529.82	7947.30
	wiring in P.V.C. casing capping by using 1.5Sqm.		Bacil	025.02	7517.00
	Polycab FRLSH wire with modular type approved				
	make switches fixed in plate on PVC box with				
	necessary fixture and fastening and labour			100	
	complete as directed by Engineer in charge.				
40		3.00	Each	520.38	1561.14
	casing, capping by using 1.5 Sqm. Polycab		Lacii	320.36	1501,14
	FRLSH wire with modular type bell switch Anchor			Section 1	and a second
	Roma make fixed on plate and PVC box and				
	wooden board for fixing bell including all fixtures			16	1000
	& labour as directed by the Engineer in charge.			10000	
	(Average length of wiring 14.00 mtr.)				377
50	Providing and fixing power light point in PVC	14.00	Each	1355.82	18981.48
	casing capping by using 2.5 Sqmm. Polycab make				
	wire with Anchor Roma make switches fixed in				
	plate and box with all labour and fixtures	7.7			DE NEST
	complete as directed by the Engineer in charge.				1377
60	Providing and fixing main wiring from Circuit	100.00	Rmt	118.00	11800.00
	board to switch by using 1.50 Sqm. Polycab	200000000000000000000000000000000000000	MIII	110.00	11800.00
	make main wire and 1.50 Sqm. Polycab make				
	earthing wire etc. complete with all labour				3 . 11
	fixtures etc. complete as directed by the Engineer	4			
70	in charge.  Providing and fixing circuit Board on Wooden	6.00	Each	3266.50	10500.00
	Board of 12" x 10" in a 6 way metal box with 10	0.0000000000000000000000000000000000000	Each	3200,50	19599.00
	to 20 A Anchor make MCB- 4 nos. and 1 no. of				
	Anchor make 2 pole isolator / MCB with all				100
	labour screw and fixtures etc. complete as				1 1
90	directed by the Engineer in charge.  Providing and fixing main wiring from Circuit	45.00	Dest	166.00	
80	board to Meter board by 4 Sqmm Polycab make	The second second	Rmt	166.38	7487.10
	main wire and 1.5 Sqm. Polycab make earthing				100
	wire using 1.50 Sqm. Polycab make main wire				15
200	and 1.50 Sqm. Polycab make earthing wire etc.				
	complete with all labour fixtures etc. complete as				
	directed by the Engineer in charge.				
90	- the test to the distance Distance	21.00	Each	1038.40	21806.40
	1 1000 cm le - 00W LED tube light				C. Land
	make 1200 mm long 20W LED tube light		-		4 7 -

TE M No.	PARTICULARS OF ITEM	QTY	UNIT	Total rate including GST	AMOUNT
	Providing and fixing electrical call bell of Anchor make.	3.00	Each	146.32	438.96
110	Providing and Fixing Approve Make 36W 2x2 Square shaped LED Panel light.	22.00	Each	4197.26	92339.72
120	Providing and fixing electrical fixtures Crompton make 1200 mm swing high speed ceiling fan.	12.00	Each	2240.82	26889.84
130	Providing and fixing St.Light Approved Make 40W along with required wiring, all materials & labours, etc. complete.	4.00	Each	4880.48	19521.92
140	Providing and fixing step type regulator for fan.	12.00	Each	240.72	2888.64
	O Providing and fixing Phillips make 9/12 Watt	4.00	Each	258.42	1033.68
16	O Providing earthing with Galvanized cast iron earth plate size 150 x 150 x 3 mm complete with all materials.		Each	4696.40	4696.40
17	Removing old wiring and connections care fully from ceiling and wall stacking the material at required place as directed by Engineer in charge.  Electrician		Each	73.75	5162.50
-	Dictioni			Total Rs.	285012.86

Executive Engineer (C)

**EHV CCCM Division** 

**MSETCL** Aurangabad